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General Instructions:
() Answer to questions cagyi rks should not exceed 30 words each.
(i) Answer to questions i marks should not exceed 60 — 80 words each.

be tied in the middle of the Answer-Book.

80

(i) Answer to questi@/r g 6 marks should not exceed 100 — 125 words each.
S

(iv) Maps shoul
(v) Attempt

ts db a question together.

(vi) Stengi ates for drawing outline maps may be used wherever necessary.
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1. State any two main objectives of the British Government to spread education in
India. 2x1=2

IRA | f3rem &1 TR &9 & 0 ey @R & el & 9= Sl & SwE
I |

2. State two ways by which the Indian people reacted to the partition of Beng

3. Write two points of distinction between renewable re ces‘and non-renewable
resources. 2x1=2

RO FaTeHl iR ST qarad § &1 fagen dfer |

4. Which is the most important cereal crop in I& the two major producing states

of this crop. 1+1=2

IR H a9 HEAYOl W HEd % & y9Q@ Seh Tl & M
AT |

5. Why is sustainable develo r&al for economic growth ? Give two reason8x1=2
anfefer fompr & fog i AETH & ? & RO A |

cr%\te hindrance in our social development ? Explain any two pox4~=2

[ StTfoane fohe 9ehR AT Uer et & ¢ fheel @ faeget @ e

y two man-made factors responsible for landslides. 2x1=2

% [ SORer el & e wrel B arer ik

8. Analyse any two situations because of which the European trading companies started
interfering in the political affairs of India in the eighteenth century. 2x1=2

frel o uRRafal &1 fagauer wive e $ROT A" AR FHal 1 seredt
Ul H YR & QoiHiaeh Al ° g@d ol YR &Y fedr |
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9. Identify and name the Indian national leader shown in the picture given below. State
any two of his contributions in promoting Indian Nationalism. 1+1=2

T & T TER ¥ YRAE TS 99T & 98T SR ST A i | R TS
P TorET o H I fhrel &l NG| H Ieid@ i |

Note: The following question is for t in ndidatasly in lieu of Q. No. 9.
i : frerfafad g97 Haa gieg % forg go7 FE@AT 9 F T W 2

W ath Banerjee to promote Indian Nationalisri@x1=2

T SSI @ fohvel &l ANTEMT &l Seid i |

10. How can Indian agri | products stand in the world market ? Suggest two ways in

this regard. 2x1=2
ARAT P sa‘ 7 fF9 yPR o @aha € 7 39 Gad W I U gHEU |

11. Identify th thrust areas of human development. Which one of them plays the
most sig le in the development ? 1Y2+16=2

I T Al Al &= &1 Teae i | S F Sear & Jee ¥ 999
qftrepr fumr & 2

illyou help a person if you find him/her in a burnt state ? Suggest any two ways2x1=2
SO fRET ST gU ATk ®l <@l & df S SfaeT H AU IHa [hE YER @erEdr
? HIg A U FAET |

12.

13. In which two categories are minerals generally classified ? Give three characteristics of
each category. 1+1Y%+1%%=4

JEId: @ieett B R 37 a9 § 91T T § 7 e O b @Sl sl die-die a9t
T |
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14.

15.

Describe any four privileges enjoyed by minority communities in India. 4x1=4

OR
State any eight steps which have been mentioned in the Indian Constitution to protect
the interests of Scheduled Castes and Scheduled Tribes. 8x¥e=4
IRA § SFeqqeds g9aEl &)1 IoiY o & fohsl ar faguiferial 1 avie i |

AT

ST Sl IR STEfd Seiaal & fedi 0 §Rem & e aRdg |fgea §

fFeel e SUT #T IeE BT | 0

Make the correct pairs from the two Columns A and B : O 4x1=4
Column A Column B
(Author) (Works) ¢
Somadeva Prithviraj Raso @
Kalhana Gitagovinda O
Jayadeva Rajataringini
Chandbardai Katha-Sarit-Sagar %
OR K
Explain any four contributions of Amir K . 4x1=4

in any four factors which are responsible for decentralisation of cotton industry in

ia. 4x1=4
OR
Explain any four measures to control air pollution created by industries in India. 4x1=4
ARA § GAl-ae TN & faebdieto & U IoRerl fh=l I’ ®Rebl h T HifoT |
Jg4ar

IR H T & 30 a1 YgUOT bl ARG A ard fohsl IR IurEl @l T iy |
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17.

18.

19.

20.

21.

“Transport routes are called the basic arteries of our economy.” Support this statement
with four examples. 4Ax1=4

q gfte #ifm)

Explain the four measures taken by the Government of India to tackle the pro of
poverty. X

qRA PR R T &l GHET &l & B & [0 IST 0 IR ST Bl

l Q
How did Non-Aligned Movement (NAM) come into existence the ond largest

political formation in the world ? Explain. 4

R H e-Frue staes (NAM) fhe YR g8k 999 9 BT T AT
H [T 7 W I |

What should be the configuration and foundatio @hquake-resistant building ?
Explain two points for each. 2+2=4

ﬂfﬁq—ﬁsﬂwaﬁm@%ﬁ%%ﬁﬁﬁ # fm @dr frg A
FHIT |

State any six objectives of the ‘Natiorn@l For@st Policy’ regarding conservation of forests in

the country. @ 6x1=6
R
Describe any six measure pt r the conservation of water. 6%x1=6
U H Il b T & T i & el ©: Seedl & W Bt |
AT

U fRel B: Ul &l aUH HIfoTT |

ment of India to control price rise. 2+4=6
OR
ribe any two features of each of the three strategies adopted by the Government to
t the interests of the consumers. 3x2=6

J@-gig S & [0 GG & YHR & Gahihl B Iei@ DIV | GRA THR &N
Tg-gfg ®r ElEa & & AU Som U ar wewl &1 aue FHifr |

ST

IU9RERT & fedl @t Wl & U R ERT S99 T Ji9 YR & Ul &l fheel al-al
fasroaret @& auiw #ifsT )
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23. Explain any six factors that contributed to the growth of Indian Nationalism during the

19th century. 6x1=6
OR
Explain any six points regarding the significance of the ‘Revolt’ of 1857. 6x1=6
SeEd q A ARATT Tegare & G & AMer & ard Bl 5 Brepl B wee Hifo |
AT

1857 & ‘WEIGEIE & "o & HaH # fhral ©: [avgall &l &men #ifvg |

24. (a) () On the given political outline map bfdia (on page 9) the place 46 Showig, by
No. 1, where the resolution for complete independence was d @ 1. Identify
and write the correct name of this place on the line draw, thiGwfap.

() On the same map of Indigon page 9) shade and name te where the
‘Gol Gumbaz’ is located. 1+1=2

(b) On the given political outline map dnhdia ( a are shown four
geographical features A, B, C and D. Identify t’:@ es with the help of the

map key and write their correct names on the |i gainst each in the mdp.1=4

On the given political outline map idia (8@ pa ) locate and label the following
geographical features : 4x1=4

() Pune— Cotton Textile Cent
() Narimanam — Oil Refin
(i) Rawatbhata — Nucledf P,
(v) Vishakhapatnam e

ation

@ () fu T ara AR (T2 9 W) § " 1 3% 39 W B
e F YT dl T B TE T | 39 T d ue
IR I AW | R 12 @ ) et
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% M & TE W W I g A iy |

Srerar
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0 T — g B

(i) AHEET — dd@ qREROTeTr

(i) TEAFIRT — TR RE BE

(v) faomEmeT — F9d-o
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Note:

Jie

0

0
(i)
(i)
v)
)
(Vi)
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The following question is for thBlind Candidatesonly in lieu of Q. No. 24
(a) and (b).

=t 7o #aa giteglT gdenteal # fog go7 a@r 24 (37) 5k (3) & &
7w E
Name the place where the resolution for complete independence was declared.
In which state is ‘Gol Gumbaz’ situated ?

Which is the leading state in the production of rubber ?

Name the Northern Terminal Station of North-South Corridor. O
Name the international airport located in West Bengal. < |
Name the Software Technology Park located in Orissa. 6x1=6

. A
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et e B R B 2 ()
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For question no. 24 (a) Y9 °. 24 (37) & fow
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For question no. 24 (b)
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For question no. 24 (b) OR
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